General Finance CORP Form SC 13D/A December 16, 2016

UNITED STATES SECURITIES AND EXCHANGE COMMISSION Washington, D.C. 20549

Schedule 13D/A

Under the Securities Exchange Act of 1934 (Amendment No. 5) **General Finance Corporation** (Name of Issuer) Common Stock (Title of Class of Securities) 369822101 (CUSIP Number) Karl I. Swaidan Hahn & Hahn LLP 301 E. Colorado Boulevard, 9th Floor Pasadena, California 91101-1977 (626) 796-9123 (Name, Address and Telephone Number of Person Authorized to Receive Notices and Communications) December 12, 2016 (Date of Event which Requires Filing of this Statement)

If the filing person has previously filed a statement on Schedule 13G to report the acquisition that is the subject of this Schedule 13D, and is filing this schedule because of §§240.13d-1(e), 240.13d-1(f) or 240.13d-1(g), check the following box.

Note: Schedules filed in paper format shall include a signed original and five copies of the schedule, including all exhibits. See §240.13d-7 for other parties to whom copies are to be sent.

The information required on the remainder of this cover page shall not be deemed to be "filed" for the purpose of Section 18 of the Securities Exchange Act of 1934 ("Act") or otherwise subject to the liabilities of that section of the Act but shall be subject to all other provisions of the Act (however, see the Notes).

```
NAMES OF REPORTING
      PERSONS
      I.R.S. IDENTIFICATION NOS.
1
      OF ABOVE PERSONS
      (ENTITIES ONLY)
      Ronald L. Havner, Jr.
      CHECK THE APPROPRIATE
      BOX IF A MEMBER OF A
2
      GROUP*
      (a)
      (b)
      SEC USE ONLY
3
      SOURCE OF FUNDS (See
4
                      PF
      Instructions)
      CHECK BOX IF
      DISCLOSURE OF
      LEGAL
      PROCEEDINGS
5
      IS REQUIRED
      PURSUANT TO
      ITEMS 2(d) OR
      2(e)
      CITIZENSHIP OR PLACE OF
6
      ORGANIZATION
                         U.S.A.
                     SOLE
                     VOTING
                     POWER
                     2,000^{(1)}
                     SHARED
NUMBER OF
                     VOTING
SHARES
                     POWER
                     2,767,607^{(2)(3)}
BENEFICIALLY
OWNED BY EACH
                     SOLE
REPORTING
                     DISPOSITIVE
PERSON WITH
                     POWER
                     2,000^{(1)}
                     SHARED
                     DISPOSITIVE
                     POWER
                     2,767,607^{(2)(3)}
      AGGREGATE AMOUNT
      BENEFICIALLY OWNED BY
11
      EACH REPORTING PERSON
      1,269,607^{(1)(2)}
12
      CHECK BOX IF
      THE
      AGGREGATE
      AMOUNT IN
```

ROW (11)

EXCLUDES CERTAIN SHARES

PERCENT OF CLASS

13 REPRESENTED BY AMOUNT IN ROW (11) 4.8%⁽⁴⁾

beneficially own all of the Shares held by the Trust.

with respect to the Shares owned by JCS.

- TYPE OF REPORTING
- PERSON IN
- Ronald L. Havner, Jr. ("Mr. Havner") holds 2,000 shares of General Finance Corporation (the "Issuer") common stock ("Shares") in his individual name.
- Mr. Havner and his wife, LeeAnn R. Havner ("Mrs. Havner"), are Co-Trustees of The Havner Family Trust (the (2) "Trust"). The Trust owns 1,267,607 Shares. As a Co-Trustee of the Trust, Mr. Havner may be deemed to
- Mr. Havner and Mrs. Havner are the Managers of JCS Ventures II, LLC, a Delaware limited liability company (3)("JCS"). JCS owns 1,500,000 Shares. As a Manager of JCS, Mr. Havner has shared voting and investment power
- (4) Mr. Havner disclaims any beneficial ownership of the Shares owned by JCS.

```
NAMES OF REPORTING
      PERSONS
      I.R.S. IDENTIFICATION NOS.
1
      OF ABOVE PERSONS
      (ENTITIES ONLY)
      LeeAnn R. Havner
      CHECK THE APPROPRIATE
      BOX IF A MEMBER OF A
2
      GROUP*
      (a)
      (b)
3
      SEC USE ONLY
      SOURCE OF FUNDS (See
4
                      PF
      Instructions)
      CHECK BOX IF
      DISCLOSURE OF
      LEGAL
      PROCEEDINGS
5
      IS REQUIRED
      PURSUANT TO
      ITEMS 2(d) OR
      2(e)
      CITIZENSHIP OR PLACE OF
6
      ORGANIZATION
                         U.S.A.
                     SOLE
                     VOTING
                  7
                     POWER
                     3,000^{(1)}
                     SHARED
NUMBER OF
                     VOTING
SHARES
                     POWER
BENEFICIALLY
                     2,767,607^{(2)(3)}
OWNED BY EACH
                     SOLE
REPORTING
                     DISPOSITIVE
                  9
PERSON WITH
                     POWER
                     3,000
                     SHARED
                     DISPOSITIVE
                     POWER
                     2,767,607^{(2)(3)}
      AGGREGATE AMOUNT
      BENEFICIALLY OWNED BY
11
      EACH REPORTING PERSON
      1,270,607^{(1)(2)}
12
      CHECK BOX IF
      THE
      AGGREGATE
      AMOUNT IN
      ROW (11)
```

EXCLUDES

CERTAIN SHARES

PERCENT OF CLASS

- 13 REPRESENTED BY AMOUNT
 - IN ROW (11) 4.8%⁽⁴⁾
- TYPE OF REPORTING
- PERSON IN
- (1) Lee Ann R. Havner ("Mrs. Havner") holds 3,000 Shares in her individual name.
- Mrs. Havner and her husband Ronald L. Havner, Jr. ("Mr. Havner"), are Co-Trustees of The Havner Family Trust (2)(the "Trust"). The Trust owns 1,267,607 Shares. As a Co-Trustee of the Trust, Mrs. Havner may be deemed to beneficially own all of the Shares held by the Trust.
 - Mr. and Mrs. Havner are the Managers of JCS Ventures II, LLC, a Delaware limited liability company ("JCS").
- (3) JCS owns 1,500,000 Shares. As a Manager of JCS, Mrs. Havner has shared voting and investment power with respect to the Shares owned by JCS.
- (4) Mrs. Havner disclaims any beneficial ownership of the Shares owned by JCS.

```
NAMES OF REPORTING
      PERSONS
      I.R.S. IDENTIFICATION NOS.
1
      OF ABOVE PERSONS
      (ENTITIES ONLY)
      The Havner Family Trust
      CHECK THE APPROPRIATE
      BOX IF A MEMBER OF A
2
      GROUP*
      (a)
      (b)
      SEC USE ONLY
3
      SOURCE OF FUNDS (See
4
                      PF
      Instructions)
      CHECK BOX IF
      DISCLOSURE OF
      LEGAL
      PROCEEDINGS
5
      IS REQUIRED
      PURSUANT TO
      ITEMS 2(d) OR
      2(e)
      CITIZENSHIP OR PLACE OF
6
      ORGANIZATION
                         California
                    SOLE
                    VOTING
                    POWER 0
                     SHARED
NUMBER OF
                    VOTING
SHARES
                    POWER
BENEFICIALLY
                     1,267,607^{(1)}
OWNED BY EACH
                    SOLE
REPORTING
                 9
                    DISPOSITIVE
PERSON WITH
                    POWER 0
                     SHARED
                    DISPOSITIVE
                    POWER
                     1,267,607^{(1)}
      AGGREGATE AMOUNT
      BENEFICIALLY OWNED BY
11
      EACH REPORTING PERSON
      1,267,607
12
      CHECK BOX IF
      THE
      AGGREGATE
      AMOUNT IN
      ROW (11)
      EXCLUDES
```

CERTAIN

SHARES

PERCENT OF CLASS

- 13 REPRESENTED BY AMOUNT
 - IN ROW (11) 4.8%
- 14 TYPE OF REPORTING
- PERSON OO

The Trust owns 1,267,607 Shares. Ronald L. Havner, Jr. and his wife, LeeAnn R. Havner, are the Co-Trustees of the Trust.

```
NAMES OF REPORTING
      PERSONS
      I.R.S. IDENTIFICATION NOS.
1
      OF ABOVE PERSONS
      (ENTITIES ONLY)
      JCS Ventures II, LLC
      FEIN - 46-1451980
      CHECK THE APPROPRIATE
      BOX IF A MEMBER OF A
2
      GROUP*
      (a)
      (b)
      SEC USE ONLY
3
      SOURCE OF FUNDS (See
4
                      PF
      Instructions)
      CHECK BOX IF
      DISCLOSURE OF
      LEGAL
      PROCEEDINGS
5
      IS REQUIRED
      PURSUANT TO
      ITEMS 2(d) OR
      2(e)
      CITIZENSHIP OR PLACE OF
6
      ORGANIZATION
                         Delaware
                     SOLE
                 7
                    VOTING
                     POWER 0
                     SHARED
NUMBER OF
                     VOTING
SHARES
                    POWER
                     1,500,000^{(1)}
BENEFICIALLY
OWNED BY EACH
                    SOLE
REPORTING
                    DISPOSITIVE
PERSON WITH
                    POWER 0
                     SHARED
                    DISPOSITIVE
                     POWER
                     1,500,000^{(1)}
      AGGREGATE AMOUNT
      BENEFICIALLY OWNED BY
11
      EACH REPORTING PERSON
      1,500,000
12
      CHECK BOX IF
      THE
      AGGREGATE
      AMOUNT IN
      ROW (11)
```

EXCLUDES

CERTAIN SHARES PERCENT OF CLASS REPRESENTED BY AMOUNT

- 13
 - IN ROW (11) 5.7%
- TYPE OF REPORTING 14
- PERSON OO

(1) JCS Ventures II, LLC ("JCS") owns 1,500,000 Shares. Ronald L. Havner, Jr. and his wife, LeeAnn R. Havner ("Mr. and Mrs. Havner"), are the Managers of JCS and, as such, have shared voting and investment power with respect to the Shares owned by JCS. The Havner Family Trust contributed the 1,500,000 shares to JCS and then assigned its membership interests in JCS to the Trustees of three Delaware trusts. Each of Mr. and Mrs. Havner's three children is a beneficiary of one of the Delaware trusts. Mr. and Mrs. Havner disclaim any beneficial interest in the Shares owned by JCS.

SCHEDULE 13D

Item 1. Security and Issuer

This Amendment No. 5 ("Amendment") amends and supplements the Statement on Schedule 13D originally filed on February 9, 2007, as amended by that certain Schedule 13D/A dated June 2, 2008, that certain Schedule 13D/A dated October 1, 2008, that certain Schedule 13D/A dated June 25, 2010, and that certain Schedule 13D/A dated December 20, 2012 (collectively, the "Schedule 13D") of JCS, Mr. Havner, Mrs. Havner and the Trust. The securities to which this Amendment relates are shares of Common Stock, par value of \$.0001 per share (the "Shares") of General Finance Corporation, a Delaware corporation (the "Issuer"). The principal executive offices of the Issuer are located at 39 East Union Street, Pasadena, California 91103. Except as set forth herein this Amendment does not modify any of the information previously reported in the Schedule 13D. Unless otherwise indicated, all capitalized terms have the meanings ascribed to them in the Schedule 13D.

Item 2. Identity and Background

This statement is being filed jointly by Ronald L. Havner, Jr. ("Mr. Havner"), LeeAnn R. Havner ("Mrs. Havner"), The Havner Family Trust (the "Trust"), and JCS Ventures II, LLC ("JCS") (collectively, the "Reporting Persons"). Neither the present filing nor anything contained herein shall be construed as an admission that JCS, the Trust or Mr. and Mrs. Havner constitute a "person" for any purpose other than Section 13(d) of the Securities Exchange Act of 1934, or that JCS, the Trust and Mrs. Havner constitute a "group" for any purpose.

Mr. and Mrs. Havner are husband and wife and the Co-Trustees of the Trust and the Managers of JCS. Each of the Reporting Persons has a business address c/o Public Storage, Inc., 701 Western Avenue, Glendale, California 91201. Mr. Havner is the Chairman and Chief Executive Officer of Public Storage, Inc., a fully integrated, self-administered and self-managed real estate investment trust that acquires, develops, owns and operates self-storage facilities which offer self-storage spaces for lease for personal and business use. The principal business address of Public Storage, Inc. is 701 Western Avenue, Glendale, California 91201. Mr. Havner is a citizen of the United States of America. Mrs. Havner is a philanthropist and engaged in a variety of charitable activities. Mrs. Havner is a citizen of the United States of America.

The Trust is a trust formed under the laws of the State of California.

JCS is a Delaware limited liability company.

During the last five years, none of the Reporting Persons has been (i) convicted in a criminal proceeding (excluding traffic violations and similar misdemeanors), or (ii) a party to a civil proceeding of a judicial or administrative body of competent jurisdiction, as a result of which such Filing Person was or is subject to a judgment, decree or final order enjoining future violations of, or prohibiting or mandating activities subject to, federal or state securities laws or finding any violation with respect to such laws.

Item 3. Source and Amount of Funds

Item 3 is hereby supplemented and updated as follows:

The Reporting Persons have used Mr. and Mrs. Havner's personal funds to acquire additional Shares as described in Item 5 below, in the amount of \$1,026,017.

Item 4. Purpose of Transaction

Item 4 is hereby supplemented and updated as follows:

The Reporting Persons expect from time to time to acquire or dispose of additional Shares via open market transactions, in privately-negotiated transactions, directly from the Issuer, or upon the exercise or conversion of securities convertible into or exercisable or exchangeable for Shares. However, there is no timetable or pre-arranged plan related to purchase or sale of additional Shares. Such decisions will be made based on trading activity and the relative value of the Shares, as defined by market conditions, as each Reporting Person expects to continuously review such person's investment in the Issuer.

Each Reporting Person also may, at any time, subject to compliance with applicable securities laws and regulatory requirements, dispose or distribute some or all of its or his or her Shares or such other securities as it or he or she owns or may subsequently acquire depending on various factors, including but not limited to, the price of the Shares, the terms and conditions of the transaction and prevailing market conditions, as well as liquidity and diversification objectives.

The Trust also holds 18,287 shares of the Issuer's Series C Cumulative Redeemable Perpetual Preferred Stock (the "Preferred Stock") which were acquired between September 22, 2015 and February 11, 2016 for an aggregate purchase price of \$1,439,830. The Reporting Persons may from time to time acquire or dispose of additional shares of Preferred Stock via open market transactions, in privately-negotiated transactions, directly from the Issuer, or upon the exercise or conversion of securities convertible into or exercisable or exchangeable for Preferred Stock. However, there is no timetable or pre-arranged plan related to the purchase or sale of additional shares of Preferred Stock. Such decisions will be made based on trading activity and the relative value of the shares of Preferred Stock, as defined by market conditions, as each Reporting Person expects to continuously review such person's investment in the Issuer. Except as indicated herein, no Reporting Person, as a stockholder of the Issuer, has any plan or proposal that relates or would result in any of the transactions or other matters specified in Clauses (a) through (j) of Item 4 of Schedule 13D. Each Reporting Person may, at any time and from time to time, review or reconsider its, his or her position and/or change its, his or her purpose and/or formulate plans or proposals with respect thereto.

Item 5. Interest in Securities of the Issuer

Item 5 is hereby supplemented and updated as follows:

During the last 60 days, the Trust has acquired additional Shares on the open market as set forth in <u>Exhibit A</u> hereto. The percentages of beneficial ownership set forth in this Amendment for each of the Reporting Persons have been determined based on the 26,288,108 Shares outstanding as of November 3, 2016, as reported in the Issuer's Form 10-Q filed on November 8, 2016.

(a) Mr. Havner.

- (i) Mr. Havner may be deemed to beneficially own 2,769,607 Shares representing approximately 10.5% of the outstanding common stock of the Issuer. Mr. Havner is a Co-Trustee of the Trust and a Manager of JCS. The Trust holds 1,267,607 Shares (the "Trust's Shares"). JCS holds 1,500,000 Shares (the "JCS Shares"). Mr. Havner holds 2,000 Shares in his individual name.
- (ii) Mr. Havner has the sole power to vote or direct the vote, and to dispose or to direct the disposition, with respect to 2,000 Shares held in his individual name.
- (iii) As Co-Trustees of the Trust, Mr. and Mrs. Havner share the power to vote or direct the vote, and to dispose or to direct the disposition, with respect to the Trust's Shares.
- (iv) As Managers of JCS, Mr. and Mrs. Havner share the power to vote or direct the vote, and to dispose or to direct the disposition, with respect to the JCS Shares. Mr. Havner disclaims any beneficial ownership of the JCS Shares.
- (v) The shares indicated herein as beneficially owned by Mr. Havner do not include 10,000 Shares owned directly by his adult son Christopher R. Havner, as to which shares Mr. Havner disclaims beneficial ownership.

(b) Mrs. Havner.

- (i) Mrs. Havner may be deemed to beneficially own 2,770,607 Shares representing approximately 10.5% of the outstanding common stock of the Issuer. Mrs. Havner is a Co-Trustee of the Trust and a Manager of JCS. Mrs. Havner holds 3,000 Shares in her individual name.
- (ii) Mrs. Havner has the sole power to vote or direct the vote, and to dispose or to direct the disposition, with respect to 3,000 Shares held in her individual name.
- (iii) As Co-Trustees of the Trust, Mr. and Mrs. Havner share the power to vote or direct the vote, and to dispose or to direct the disposition, with respect to the Trust's Shares.
- (iv) As Managers of JCS, Mr. and Mrs. Havner share the power to vote or direct the vote, and to dispose or to direct the disposition, with respect to the JCS Shares. Mrs. Havner disclaims any beneficial ownership of the JCS Shares.
- (v) The shares indicated herein as beneficially owned by Mrs. Havner do not include 10,000 Shares owned directly by her adult son Christopher R. Havner, as to which shares Mrs. Havner disclaims beneficial ownership.

(c) The Trust.

- (i) The Trust may be deemed to beneficially own 1,267,607. Shares representing approximately 4.8% of the outstanding common stock of the Issuer.
- (ii) Mr. and Mrs. Havner, as Co-Trustees of the Trust, share the power to vote or direct the vote, and to dispose or to direct the disposition, with respect to the Trust's Shares.

(d) JCS.

(i) JCS may be deemed to beneficially own 1,500,000 Shares representing approximately 5.7% of the outstanding common stock of the Issuer.

(ii) Mr. and Mrs. Havner, as Managers of JCS, share the power to vote or direct the vote, and to dispose or to direct the disposition, with respect to the JCS Shares. Mr. and Mrs. Havner disclaim any beneficial ownership of the JCS Shares.

Item 7. Material to be Filed as Exhibits

Exhibit Description of Exhibits

99.1 Agreement Required for Joint Filing Under Rule 13d-1(k)(1)

Signature

After reasonable inquiry and to the best of my knowledge and belief, I certify that the information set forth in this statement is true, complete and correct.

Date: December 14, 2016

Signature: /s/ Ronald L. Havner, Jr.

Name/Title: Ronald L. Havner, Jr.

Signature: /s/ LeeAnn R. Havner

Name/Title: LeeAnn R. Havner

THE HAVNER FAMILY TRUST

Signature: <u>/s/ LeeAnn R. Havner</u> Name: LeAnn R. Havner

Title: Trustee

Signature: /s/ Ronald L. Havner, Jr. Name: Ronald L. Havner, Jr.

Title: Trustee

JCS VENTURES II, LLC,

a Delaware limited liability company

Signature: <u>/s/ LeeAnn R. Havner</u> Name: LeAnn R. Havner

Title: Manager

Signature: /s/ Ronald L. Havner, Jr. Name: Ronald L. Havner, Jr.

Title: Manager

EXHIBIT A

	December	5,	201	6
--	----------	----	-----	---

Deceiii	Del 3, 2010	
	PRICE	TOTAL
	PER	PURCHASE
QUAN'	T ST IARE	PRICE
5,000	\$ 4.10	\$ 20,504.95
4,500	\$ 4.10	\$ 18,454.45
500	\$ 4.10	\$ 2,048.00
4	\$ 4.10	\$ 16.40
4	\$ 4.10	\$ 16.40
100	\$ 4.10	\$410.10
100	\$ 4.10	\$ 410.10
100	\$ 4.10	\$410.10
100	\$ 4.10	\$410.10
100	\$ 4.10	\$ 410.10
100	\$ 4.10	\$410.10
100	\$ 4.10	\$410.10
100	\$ 4.10	\$410.10
104	\$ 4.10	\$ 426.50
192	\$ 4.10	\$ 787.39
400	\$ 4.10	\$ 1,640.40
464	\$ 4.10	\$ 1,902.86
738	\$ 4.10	\$ 3,026.53
600	\$ 4.10	\$ 2,457.59
1,394		\$ 5,709.81
100	\$ 4.08	\$ 407.60
200	\$ 4.08	\$ 815.20
5,000		\$ 20,479.95
2,720		\$ 11,156.32
400	\$ 4.08	\$ 1,630.63
4	\$ 4.15	\$ 16.60
100	\$ 4.15	\$ 415.10
100	\$ 4.15	\$ 415.10
100	\$ 4.15	\$ 415.10
-	\$ 4.15	\$ 5,396.29
2,996	\$ 4.15	\$ 12,436.36
200	\$ 4.15	\$ 829.20
200	\$ 4.10	\$ 820.20
500	\$ 4.10	\$ 2,050.25
2,200		\$ 9,021.09
2,392		\$ 9,808.37
3,208	\$ 4.10	\$ 13,154.39
600	\$ 4.10	\$ 2,457.30
100	\$ 4.08	\$ 407.55
1,000		\$ 4,075.50
100	\$ 4.10	\$ 410.35
100	\$ 4.10	\$ 410.35
100	\$ 4.10	\$ 410.35
100	\$ 4.10	\$ 410.35
200	\$ 4.10	\$ 820.71
604	\$ 4.10	\$ 2,478.53

200	\$ 4.08	\$815.71
100	\$ 4.15	\$415.08
300	\$ 4.15	\$ 1,245.23
759	\$ 4.15	\$3,150.41
800	\$ 4.15	\$ 3,320.60
1,200	\$ 4.15	\$4,980.90
200	\$ 4.15	\$ 829.15
300	\$ 4.15	\$ 1,243.73
2,112	\$ 4.15	\$ 8,755.83
300	\$ 4.13	\$ 1,237.73
500	\$ 4.13	\$ 2,062.88
4	\$ 4.15	\$ 16.60
100	\$ 4.15	\$415.07
100	\$ 4.15	\$ 415.07
207	\$ 4.15	\$ 859.20
563	\$ 4.15	\$ 2,336.85
1,307	\$ 4.15	\$ 5,424.97
2,544	\$ 4.15	\$ 10,559.39
100	\$ 4.15	\$414.66
200	\$ 4.15	\$829.32
300	\$ 4.15	\$ 1,243.98
315	\$ 4.15	\$ 1,305.90
800	\$ 4.15	\$ 3,316.56
200	\$ 4.13	\$ 825.14
100	\$ 4.12	\$412.37
200	\$ 4.12	\$824.74
Total:		Total:
53,135		\$218,677.89

December 6, 2016 PRICE TOTAL

	PRICE	TOTAL
	PER	PURCHASE
QUAN	T ST ARE	PRICE
300	\$ 4.15	\$ 1,245.30
100	\$ 4.15	\$415.10
100	\$ 4.15	\$415.10
100	\$ 4.15	\$415.10
100	\$ 4.15	\$415.10
100	\$ 4.15	\$415.10
100	\$ 4.15	\$415.10
100	\$ 4.15	\$415.10
100	\$ 4.15	\$415.10
200	\$ 4.15	\$830.20
3,700	\$ 4.15	\$ 15,358.65
100	\$ 4.10	\$410.10
100	\$ 4.10	\$410.10
100	\$ 4.10	\$410.10
164	\$ 4.10	\$ 672.56
1,096	\$ 4.10	\$ 4,494.69

3,440	\$ 4.10	\$ 14,107.40
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$415.05
100	\$ 4.15	\$415.05
100	\$ 4.15	\$415.05
100	\$ 4.15	\$415.05
100	\$ 4.15	\$415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
100	\$ 4.15	\$ 415.05
130	\$ 4.15	\$ 539.54
200	\$ 4.15	\$ 830.10
300	\$ 4.15	\$ 1,245.15
300	\$ 4.15	\$ 1,245.15
3,046	\$ 4.15	\$ 12,642.41
3,324	\$ 4.15	\$ 13,796.25
Total:		Total:
<u>20,000</u>		<u>\$82,764.85</u>

December 7, 2016

	Price	Total
	Per	Purchase
Quantit	yShare	Price
1,305	\$4.20	\$5,482.29
3,695	\$4.20	\$15,504.19
2,157	\$4.20	\$9,064.35
7,843	\$4.30	\$33,690.64
300	\$4.25	\$1,274.42
820	\$4.25	\$3,483.40
200	\$4.20	\$840.61
300	\$4.20	\$1,260.92
3	\$4.30	\$12.90
3	\$4.30	\$12.90

12	\$4.30	\$51.62
100	\$4.30	\$430.13
200	\$4.30	\$860.25
300	\$4.30	\$1,290.38
520	\$4.30	\$2,236.65
512	\$4.30	\$2,200.04
2,303	\$4.30	\$9,894.27
200	\$4.35	\$870.10
9,800	\$4.35	\$42,585.85
2	\$4.35	\$8.70
1,900	\$4.35	\$8,266.95
2,833	\$4.35	\$12,326.45
100	\$4.33	\$432.60
Гotal:		Total:
35,408		\$152,080.61

December 8, 2016

Бесеннос	D:	TD 4 1
	Price	Total
	Per	Purchase
Quantity	Share	Price
200	\$4.40	\$880.44
1,942	\$4.395	\$8,539.38
100	\$4.35	\$435.22
300	\$4.50	\$1,350.17
1,500	\$4.50	\$6,750.83
6,824	\$4.50	\$30,711.83
100	\$4.475	\$447.56
100	\$4.475	\$447.56
10,000	\$4.545	\$45,454.95
215	\$4.55	\$983.20
5,000	\$4.6941	\$23,475.45
10,000	\$4.695	\$46,954.95
100	\$4.70	\$470.05
200	\$4.70	\$940.10
200	\$4.70	\$940.10
642	\$4.70	\$3,017.71
2,958	\$4.70	\$13,904.06
4,900	\$4.70	\$23,032.43
1,000	\$4.65	\$4,650.50
300	\$4.70	\$1,410.40
3,422	\$4.70	\$16,087.95
400	\$4.65	\$1,864.95
917	\$4.60	\$4,219.11
<u>4,083</u>	\$4.60	<u>\$18,785.84</u>
5		
Total:		
<u>55,403</u>		Total:
5		<u>\$255,754.74</u>

December 9, 2016

2010		
	Price	Total
	Per	Purchase
Quality	Share	Price
2,833	\$4.60	\$13,036.28
200	\$4.595	\$919.32
100	\$4.575	\$457.65
900	\$4.85	\$4,365.65
4,564	\$4.85	\$22,138.69
503	\$4.8453	\$2,437.55
500	\$4.845	\$2,422.86
400	\$4.80	\$1,920.29
100	\$4.85	\$485.09
1,500	\$4.85	\$7,276.49
3,300	\$4.8377	\$15,967.68
100	\$4.75	\$475.10
221	\$4.85	\$1,071.96
4,400	\$4.85	\$21,342.18
5,379	\$4.85	\$26,090.81
500	\$4.85	\$2,426.22
932	\$4.85	\$4,522.47
600	\$4.845	\$2,908.46
1,345	\$4.90	\$6,591.34
3,823	\$4.90	\$18,735.07
2,800	\$4.895	\$13,707.74
1,179	\$4.90	\$5,782.05
8,821	\$4.94	\$43,580.69
100	\$4.85	\$485.12
200	\$4.85	\$970.26
1,036	\$4.845	\$5,020.76
2,100	\$4.845	\$10,177.21
400	\$4.80	\$1,920.52
21	\$4.80	\$100.83
208	\$4.80	\$998.68
3,500	\$4.80	\$16,804.63
10	\$4.75	\$47.51
Total:		Total:
52,575		\$255,187.16

December 12, 2016

	Price	Total
	Per	Purchase
Quality	Share	Price
100	\$4.95	\$495.21
24	\$4.95	\$118.84
291	\$4.95	\$1,441.07
500	\$4.945	\$2,473.56
1,426	\$4.945	\$7,054.59

112	\$5.00	\$560.11
2,020	\$4.995	\$10,091.90
2,868	\$4.995	\$14,328.50
200	\$5.00	\$1,000.20
2,700	\$5.00	\$13,502.67
200	\$4.995	\$999.20
1,700	\$4.995	\$8,493.18
100	\$4.975	\$497.60
100	\$4.95	\$495.10
Total:		Total:
12,341		\$61,551.73

EXHIBIT 99.1

Joint Filing Agreement

In accordance with Rule 13d-1(k)(1) of Regulation 13D-G of the Securities Exchange Act of 1934, the persons or entities below agree to the joint filing on behalf of each of them of the Statement on Schedule 13D (including any and all amendments thereto) with respect to the common stock of General Finance Corporation, and agree that such statement is, and any amendments thereto filed by any of them will be, filed on behalf of each of them, and further agree that this Joint Filing Agreement be included as an Exhibit to such joint filings.

Dated: December 14, 2016 By: /s/ Ronald L. Havner, Jr. Name: Ronald L. Havner, Jr.

By: <u>/s/ LeeAnn R. Havner</u> Name: LeeAnn R. Havner

THE HAVNER FAMILY TRUST

By: <u>/s/ LeeAnn R. Havner</u> Name: LeeAnn R. Havner

Title: Trustee

By: /s/ Ronald L. Havner, Jr. Name: Ronald L. Havner, Jr.

Title: Trustee

JCS VENTURES II, LLC

By: <u>/s/ LeeAnn R. Havner</u> Name: LeeAnn R. Havner

Title: Manager

By: <u>/s/ Ronald L. Havner, Jr.</u> Name: Ronald L. Havner, Jr.

Title: Manager